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Rav Adda Tekufat Nisan  minus traditional molad  of Nisan
There is zero calendar drift by this method, as the Hebrew Calendar mean year = Tekufat  Adda mean year

= Traditional Molad  interval x 235 months / 19 years = 365 days 5h 55m and 25+25/57s

-24
-22
-20
-18
-16
-14
-12
-10

-8
-6
-4
-2
0

+2
+4
+6
+8

+10
+12
+14
+16
+18
+20

40
00

41
00

42
00

43
00

44
00

45
00

46
00

47
00

48
00

49
00

50
00

51
00

52
00

53
00

54
00

55
00

56
00

57
00

58
00

59
00

60
00Hebrew

Year:

R
av

 A
dd

a 
Te

ku
fa

t N
is

an
 m

in
us

 m
ol

ad
 o

f N
is

an
 (d

ay
s)

Nisan molad moment

Year 12 of 19 (average)

Nisan molad + 16 days

Each year shown connected to the 
corresponding point 19 years later.
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